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FACULTY OF COMMERCE & BUSINESS MANAGEMENT 

B.Com (Gen) CBCS II-Year (IV-Semester) Regular & Backlog Examinations, June/July-2023 

 Income Tax

Time: 3 Hours                      Max Marks: 80 

 

 

            SECTION-A    (5x4=20 Marks) 

Answer any Five questions from the following 

 
1. Previous year.  
2. Gross total Income.  
  

3. Profits-in-Lieu of salary.  
  

4. Annual value.  
 

5. Un absorbed Depreciation.  
  

6. Mrs. X has let out one house property @ Rs.62,000 P.M, Municipal valuation Rs.72,000 P.M, 

 Fair rent Rs.90,000 P.M, standard rent Rs.1,00,000 P.M, municipal tax paid Rs.40,000 

           Compute Net Annual Value. 

 X
 

 
  

 

7. Mr.Bharath basic salary is Rs.5,000 per month and dearness allowance Rs.1,000 per month 

           (Enters for retirement benefit). He is getting HRA of Rs.2,000 per month. He actually pays  

 Rs. 2,000 per month as rent for a house in Delhi. Compute the taxable HRA. 
 

 
 
  
 

8. Non-resident.  

   

 
             SECTION-B    (5x12=60 Marks) 

Answer all the following questions 

 
 

9.   (a) Explain the difference between direct and indirect taxes. 

      
        (OR) 

 (b) Discuss briefly the provisions of residential status according to Sec.6 of the IT Act. 
 

 
 


      

   

10. (a) What is agricultural income? Explain partly agricultural income and partly business income. 



            (OR) 

      

           (b) Mr. Sandeep of age 50 years has agricultural income of Rs.10 lakhs and Income from 

                other sources is Rs.3,50,000. Determine his tax liability. 




     Contd….2 



 

:: 2 :: 

 

11.       (a) Define allowance and explain different types of allowances. 

       
        (OR) 

           (b) Smt. Preethi is working in a Ltd. Co since 10/10/2005. Her income particulars for the year 

                ending 31/03/2022 are as under. Calculate income from her salary. 

    

 
       

(i) Basic pay @ Rs.18,000 p.m.  
(ii) Children education Allowance Rs.3,000 pm (for 2 children). 

 
(iii) Entertainment Allowance @ Rs.6,000 pm.  
(iv) DA Rs. 9,000. P.M  
(v) Conveyance allowance Rs.10,000 pa (85% is spent for official purpose). 

 
(vi) Bonus Rs.33,000. 

 
(vii) Employers contribution to approved superannuation fund Rs.1,20,000. 

 
(viii) The company gave interest-free loan of Rs.12,000 (SBI rate 18.5%). 

(SBI 18.5%). 
(ix) The company sold office table costing Rs.15,000 for Rs.2,000 (which is purchased 2 

years ago). 


 

(x) Profession tax paid Rs.250 pm. 

 
 

 

12.      (a) State the items of income which are related to house but are not taken as income from  

               house property. 

     
 

        (OR) 
 

          (b) Rakesh is the owner of a property constructed at Chennai on 30/9/2017. Compute the 

                Income from house property for A.y. 2022-23 from following details. 





  

 

 

 

 

 

 

 

 

  

 

 

Contd….3 

Municipal rental value   Rs.1,50,000 

Fair rental value  Rs.2,52,000 

Standard rental value     Rs.1,70,000 

Actual rent received       Rs.1,65,000 

Interest paid on loan to repair the house 

 
Rs.26,000 

Municipal taxes        12% 

Un realized rent  Rs.26,000 

Vacancy loss  Rs.12,000 

Outstanding rent  Rs.15,000 
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13.        (a) What are the Expenses Expressly disallowed as deduction in computing the profits of a 

                  business? 

 

  
 

                                           (OR) 
            (b) ABC Ltd owns the following assets. 

       ABC
 

       Calculate the amount of depreciation for A.Y. 2022-23. 

         
  

  

During the year, residential Building was sold for Rs.9,20,000 and a part of plant  & 

 machinery was sold for Rs.4,00,000. 


 

Assets 

 
WDV on 1/4/2021 

 
Rate 

 

Factory Buildings 

 
20,00,000 10% 

Residential Building 

 
6,00,000 5% 

Plant & Machinery 

 
12,00,000 40% 

Furniture  


6,00,000 10% 


